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Run 4459 mpswise, accO: All

Enlries: 661331

Mear: 94480 4- 0.0033

Sid Dev: 27040 - 0.0024
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Run 4459 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==

Enitries: 165754

Mean: 11.3382 «/- 0,009

Sbd Dev: OLFE1T o~ 00014

Enitries: 165810

Mean: 11.3745 /- 00009

Sid Deery: 0.FE4E 4 000714
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Run 4459 mpswise, accO: Beam OFF

Enilrie=: 34277

Meari: 07008 +0- 0.0017

Sid Dev: 03174 - 0.0002

3
AccliNAccD

Run 4459 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Enitries: 140102

Mean: 85073 +- LD1E

Sid Drey: DLBEE4 - 0.0013
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Run 4459 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF

14

AccO/NAccO

12

q‘)-i.lllllllll

1

10 S

1
300

1
400

1
500

600
mpsCoda

Run 4459 mpswise, Acc0O/NAccO:mpsCoda, beam ON, laser ON
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Run 4459 mpswise, AccO/NAccO:mpsCoda, beam OFF
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mpsCoda
Run 4459 mpswise, AccQ/NAccO:mpsCoda, beam ON, laser OFF
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